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Unit 14 - Week 12

Course outline

Assignment 12

The due date for submitting this assignment has passed. Due on 2020-12-09, 23:59 |ST.
As per our records you have not submitted this assignment.

How does an NPTEL online
course work?

Week 0
Please note that multiple options may be cormrect.
Week 1 1) Which of these continued fractions expansions satisfy z* + 2z — 504 = 07 1 point
Week 2
21,2, 8,2, 44],
Week 3

Week 4 21,3, 8,2, 44],

Week 5 21,2,8,7,
Week 6 21,3, 8,2,
Week 7 S—
21,2, 8],
Week 8 o
21,3, 8|.
EEIE Mo, the answer is incorrect.
Score: 0
Week 10 Accepted Answers:
21,2, 8,2, 44],
Week 11
2) Which of these continued fractions expansions satisfy 522 + = — 101 = 0? T point
Week 12
Leciure 5& : Quadratic [4 m]
irraticnals as continued oo
fractions
Lecture 59 : Some basics of [4‘ 2,2,1,8, 2]'
algebraic number theory
Lecture 60 : Units in quadratic [4‘ 2,1,1, E]'
fields: the imaginary case
Lecture 61 : Unifs in quadratic [4‘2‘2’ I’E]'
fields: the real case
Leciure 62 : Brahmagupta-Pell [41 2‘ 1’ 1]'
equatiocns
Leclure 63 : Tying some loose [4‘ E‘ 2’ 1]'
ends Mo, the answer is incorrect.
Score: 0
Quiz » Azgignment 12 Accepted Answers:
Azzignmeni-12 Solufions [4, E, 1.1, S]:
Weekly Feedback _ _ _ ) — .
3) Which of these quadratic equations are satisfied by [11, 7|2 1 point
Download Videos
Live Session z2 + 16z +43 =0

2 — 15z +43 =10,
—x2 + 15z + 43 =0,
—z2 — 15z +43 =0,
—z% + 16z — 43 = (0,
z? — 152 — 43 = 0.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

r? —15r + 43 =0,
—r2 4+ 15z —43=0

4} Which of these guadratic equations are satisfied by [T1 E]’? 1 point

¢+ 9z +13 =0,
—r24+ 9z +13 =0,
r? -0z +13 =10,
2 + 9z — 12 = 0,
—z? -9z +13 =10,
z? — 9z — 12 = 0.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
2 -9z +12=0,

5)  Which of these numbers have purely periodic continued fractions expansion? 1 point

3+ /8,
4+ V17,
5+ /29,
6 + /31,
7+ /51,
8 + /67

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

4+ /17,

5+ /29,

7+ /5L

8 + /67

6) \Which of the following elements are units in the ring of algebraic integers of Q[\f—l]’? 1 point
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Mo, the answer is incorrect.
Score: 0
Accepted Answers:
v —1.
o —1.

7) \Which of the following elements are units in the ring of algebraic integers of I[l[-,f —3]’? 1 point

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

1 1 —
14173
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8) Which of the following elements are units in the ring of algebraic integers of I[l[-,f —5]’? 1 point

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
1,

-1

9) Which of the following elements are units in the ring of algebraic integers of (J[+/2]? 1 point

V2

14+ /2,
3+2.2
3-2v/2,
1- 3
V2

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

14+ +/2,
3+22
3-2V2
1.3,

10) Which of the following elements are units in the ring of algebraic integers of (J[+/3]? 1 point

V3,
1++3,
2 + /3,
1—4/3,
2 — /3,
V3

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

24+ /3.

23,



